The Strong Convergence of a New Iterative Algorithm for Asymptotically Nonexpansive Mappings

Yuanheng Wang
Department of Mathematics
Zhejing Normal University,
Jinhua, China
wangyuanheng@yahoo.com.cn

Abstract—In a real Banach space E with a uniformly $G^{\hat{}}$ at eaux differentiable norm, we prove that a new iterative sequence converges strongly to a fixed point of an asymptotically nonexpansive mapping. The results in this paper improve and extend some recent results of other authors.

Keywords- uniformly asymptotically regular; asymptotically nonexpansive; uniformly $G^{\hat{\alpha}}_{ateaux}$ differentiable norm; strong convergence; fixed point

I. Introduction

It is well known that Fixed Point Theory has emerged as an important tool in several branches of pure and applied nonlinear sciences to study a wide range of subjects including computing science, communication engineering, obstacle, unilateral problems, optimization, theoretical mechanics, and control theory, in a unified and general framework. This alternative formulation has been used to study the existence of a fixed point as well as to develop some numerical methods. Based on the idea, we can examine some iterative methods for fixed points and the convergence of their iterative sequences.

Let K be a closed convex subset of a real Banach space E. Recall that a mapping T is called a nonexpansive mapping if

$$||Tx-Ty|| \le ||x-y||, \forall x, y \in C.$$

First of all, we note the iterative sequence as follows:

$$x_{n+1} = \lambda_n y + (1 - \lambda_n) T x_n, n \ge 0,$$
 (1.1)

where the sequence $\{\lambda_n\}$ chosen in [0,1] and $y,x_0\in K$. In 1967, Halpern [1] fist introduced this sequence (1.1) and pointed out that this sequence converges to the fixed point of T under the condition

$$(C_1)\lim_{n\to\infty}\lambda_n=0, (C_2)\sum_{n=1}^{\infty}\lambda_n=\infty.$$

Since then, many mathematicians and scientists have studied the iterative sequence (1.1) such as Xu[2], Shioji and Takahashi [3], Chidume[4] etc. In [5], Xu denoted $T:K\to K$ is a nonexpansive mapping with $F(T)\neq\varnothing$, $f:K\to K$ is a contractive mapping with the coefficient

Weiwei Sun Department of Mathematics Zhejing Normal University,

Jinhua, China yhwang@zjnu.edu.cn

 $\alpha \in [0,1]$. Assume that the iterative sequence is generated by

$$x_{n+1} = \alpha_n f(x_n) + (1 - \alpha_n) T x_n . (1.2)$$

Then $\{x_n\}$ converge strongly to a fixed point of T under certain conditions. If we let $f(x_n) \equiv y \in K$ in (1.2), then we can get (1.1).

In the present paper, motivated and inspired by the methods of Xu [5], we introduce a new iterative sequence $\{x_n\}$ generated by

$$x_{n+1} = \alpha_n f(x_n) + (1 - \alpha_n) S^n x_n, n \ge 0 , \quad (1.3)$$

where $T:K\to K$ is an asymptotically nonexpansive mapping with $k_n\in[1,\infty)$, $\lim_{n\to\infty}k_n=1$ such that

$$||T^{n}x-T^{n}y|| \leq k_{n} ||x-y||, \forall x, y \in K,$$

and $f: K \to K$ is a contractive mapping, $S: S^n x = (1 - \delta)x + \delta T^n x$, $\forall x \in K$. Under some suitable conditions, we prove that the iterative sequence $\{x_n\}$ converges strongly to a fixed point of the asymptotically nonexpansive mapping T. Our results improve and extend some recent results of other authors, such as [2-5].

II. PRELIMINARIES

Let K be a nonempty closed convex subset of the real Banach space E with a uniformly $G_{a\,teaux}^{\ \ \ }$ differentiable norm. and E^* be the dual of E. The normalized duality mapping $J:E\to 2^{E^*}$ is defined by

$$J(x) = \{ f \in E^*, \langle x, f \rangle = ||x|| ||f||, ||x|| = ||f|| \}, x \in E.$$

We denote by $\langle \cdot, \cdot \rangle$ the duality product and J the normalized duality mapping with a single value and F(T) the set of fixed points of T.

Let $S(E) := \{x \in E; ||x|| = 1\}$ denote the unit sphere of a Banach space E. The space E is said to have G areaux

differentiable norm (we also say that E is smooth), if the

$$\lim_{t \to 0} \frac{\|x + ty\| - \|x\|}{t}$$

exits for each $x, y \in S(E)$; E is said to have a uniformly $G_{a teaux}$ differentiable norm, if for each y in S(E), the limit is attained uniformly for $x \in S(E)$.

Lemma 2.1([6]) Let E be a real Banach space, and $J:E \to 2^{E^*}$ is the normalized duality mapping, then it holds the inequality

$$||x+y||^2 \le ||x|| + 2\langle y, j(x+y)\rangle,$$

$$\forall j(x+y) \in J(x+y), \forall x, y \in E.$$

Lemma 2.2 ([7]) Let $\{x_n\}$ and $\{y_n\}$ be two bonded sequences in areal Banach space E. We denote sequence $\{\beta_n\}$ chosen in [0,1] and

$$0 < \liminf_{n \to \infty} \beta_n \le \limsup_{n \to \infty} \beta_n < 1.$$

Assume

$$\begin{split} x_{n+1} &= \beta_n y_n + (1 - \beta_n) x_n, (n \ge 0), \\ \lim \sup_{n \to \infty} (||y_{n+1} - y_n|| - ||x_{n+1} - x_n||) \le 0 \ . \end{split}$$
 Then $\lim_{n \to \infty} ||y_n - x_n|| = 0$.

Lemma 2.3 ([2]) Let $\{\alpha_n\}$ be a sequences of nonnegative real satisfying the property

$$a_{n+1} \leq (1-\alpha_n)a_n + \alpha_n\sigma_n + \gamma_n, n \geq 0$$
.

If the sequences $\{\alpha_n\}, \{\gamma_n\}, \{\sigma_n\}$ satisfie

$$(i)\{\alpha_n\}\subset[0,1], \lim \alpha_n\to 0, \sum \alpha_n=\infty;$$

(ii) $\limsup \sigma_n \leq 0$;

(iii)
$$\gamma_n \le 0 (n \ge 0), or \sum \gamma_n < \infty$$
.

Then $a_n \to 0$, $n \to \infty$.

Definition 2.4 ([8]) Let K be a closed convex subset of a real Banach space $E, T: K \to K$. T is said to be asymptotically regular, if for all $x \in K$, we have

$$\lim_{n\to\infty} ||T^{n+1}x - T^n x|| = 0.$$

MAIN RESULTS

Theorem 3.1 Let K be a nonempty closed convex subset of a real Banach space E with uniformly G a teaux differentiable norm. $T: K \to K$ is a asymptotically nonexpansive mapping with $k_n \in [1, \infty]$, $\lim_{n\to\infty} k_n = 1$ and asymptotically regular properties and $F(T) \neq \emptyset$. For every fixed $\delta \in (0,1)$, we define a self mapping $S: K \to K$ by $S^n x = (1 - \delta)x + \delta T^n x, \forall x \in K$.

$$S^n x = (1 - \delta)x + \delta T^n x, \forall x \in K$$

Let $f: K \to K$ is a contractive mapping with the contractive constant $\alpha \in (0,1)$. Suppose that

$$z_t := tf(z_t) + (1-t)S^n z_t$$

is uniqueness in K for each t and when $t \rightarrow 0$, the sequence $\{z_t\}$ converges strongly to the fixed point z of T. Let $\{\alpha_n\}$ be a real sequence in [0,1] satisfied the follow conditions:

$$C_1: \lim_{n\to\infty} \alpha_n = 0; \qquad C_2: \sum \alpha_n = \infty;$$

$$C_3: \lim_{n\to\infty} \frac{k_n-1}{\alpha_n} = 0.$$

For any $x_0 \in K$, if the sequence $\{x_n\}$ is defined by (1.3), then sequence $\{x_n\}$ converges strongly to a fixed point of T.

Proof For all $x, y \in K$, we can obtain

$$|| S^{n}x - S^{n}y || = || (1 - \delta)(x - y) || + \delta || T^{n}x - T^{n}y ||$$

$$\leq || 1 - \delta(x - y) || + \delta k_{n} || x - y ||$$

$$= (1 - \delta + \delta k_{n}) || x - y ||$$

Let
$$L_n=1-\delta+\delta k_n$$
, obviously $L_n\in[1,\infty)$ and $\lim_{n\to\infty}L_n=1,\lim_{n\to\infty}\frac{L_n-1}{\alpha_n}=0$. So S is an

asymptotically nonexpansive mapping. What's more, S and **T** have the same set of fixed point, marked as F(T)=F(S).

Next, we show that the sequence $\{x_n\}$ is bounded. If we take $u \in F(T)$, then

$$||x_{n+1} - u|| = ||\alpha_n (f(x_n) - u) + (1 - \alpha_n)(S^n - u)||$$

$$\leq \alpha_n ||f(x_n) - u|| + \alpha_n ||f(u) - u|| + (1 - \alpha_n)L_n ||(x_n - u)||$$

$$= \alpha_n \alpha ||x_n - u|| + \alpha_n ||f(u) - u|| + (1 - \alpha_n)L_n ||x_n - u||$$

$$= [(1 - \alpha_n)L_n + \alpha \alpha_n]||x_n - u|| + \alpha_n ||f(u) - u||$$

$$= [(1 - \alpha_n)L_n + \alpha_n \alpha]||x_n - u||$$

$$+\left[1-(1-\alpha_n)L_n-\alpha_n\alpha\right]\frac{\alpha_n \|f(u)-u\|}{\left[1-(1-\alpha_n)L_n-\alpha_n\alpha\right]}.$$

Since

$$\frac{\alpha_n}{1-(1-\alpha_n)L_n-\alpha_n\alpha} = \frac{\alpha_n}{1-L_n-\alpha_n(L_n-\alpha)} = \frac{1}{\frac{1-L_n}{\alpha_n}+L_n-\alpha}$$

and

$$\lim_{n\to\infty}\frac{1-L_n}{\alpha}=0\,$$

we have

$$\lim_{n\to\infty}\frac{\alpha_n}{1-(1-\alpha_n)L_n-\alpha_n\alpha}=\frac{1}{1-\alpha}.$$

Therefore there exists some constant M_1 , such that

$$\begin{split} &|\frac{\alpha_{n}}{1-(1-\alpha_{n})L_{n}-\alpha_{n}\alpha}| \leq M_{1}, \text{ for all } n \geq 0.\\ &||x_{n+1}-u|| \leq \max\{||x_{0}-u||, M_{1}||f(u)-u||\}. \end{split}$$

Therefore $\{x_n\}$ is bounded. So are $\{y_n\}$, $\{T^n x_n\}$, $\{S^n x_n\}$.

$$||x_{n+1} - S^n x_n|| = \alpha_n ||f(x_n) - S^n x_n|| \to 0, (n \to \infty)$$
(3.1)

$$y_n = \frac{\alpha_n f(x_n) + (1 - \alpha_n) \delta T^n x_n}{\beta_n} ,$$

where $0 < \liminf_{n \to \infty} \beta_n \le \limsup_{n \to \infty} \beta_n < 1$.

Then

Then

$$\|y_{n+1} - y_n\| - \|x_{n+1} - x_n\|$$

$$= \|\frac{\alpha_{n+1} f(x_{n+1}) + (1 - \alpha_{n+1}) \delta T^{n+1} x_{n+1}}{\beta_{n+1}}$$

$$-\frac{\alpha_n f(x_n) + (1 - \alpha_n) \delta T^n x_n}{\beta_n} \| - \|x_{n+1} - x_n\|$$

$$\leq \|\frac{\alpha_{n+1}}{\beta_{n+1}} f(x_{n+1}) - \frac{\alpha_n}{\beta_n} f(x_n)\|$$

$$+ \|\frac{(1 - \alpha_{n+1}) \delta}{\beta_{n+1}} T^{n+1} x_{n+1} - \frac{(1 - \alpha_n) \delta}{\beta_n} T^n x_n\|$$

$$- \|x_{n+1} - x_n\|$$

$$\leq \frac{\alpha_{n+1}}{\beta_{n+1}} \|f(x_{n+1})\| + \frac{\alpha_n}{\beta_n} \|f(x_n)\|$$

$$+ \|\frac{(1 - \alpha_{n+1}) \delta}{\beta_{n+1}} (T^{n+1} x_{n+1} - T^{n+1} x_n)\|$$

$$+ \|\frac{(1 - \alpha_{n+1}) \delta}{\beta_{n+1}} T^{n+1} x_n - \frac{(1 - \alpha_n) \delta}{\beta_n} T^n x_n\|$$

$$- \|x_{n+1} - x_n\|$$

$$\leq \frac{\alpha_{n+1}}{\beta_{n+1}} \|f(x_{n+1})\| + \frac{\alpha_n}{\beta_n} \|f(x_n)\|$$

$$+ (\frac{1 - \alpha_{n+1}}{\beta_{n+1}} \delta k_n - 1) \|x_{n+1} - x_n\|$$

 $+\frac{1-\alpha_{n+1}}{\beta}\delta \parallel T^{n+1}x_n - T^nx_n \parallel$

 $+ \left| \frac{(1-\alpha_{n+1})\delta}{\beta_{n+1}} - \frac{(1-\alpha_n)\delta}{\beta_n} \right| \cdot \|T^n x_n\|.$

Since T is a asymptotically regular mapping and the sequences $\{x_n\}, \{f(x_n)\}\$ and $\{T^nx_n\}$ are bounded, so

$$\lim_{n \to \infty} \sup(\|y_{n+1} - y_n\| - \|x_{n+1} - x_n\|) \le 0.$$

By Lemma 2.2, we have $||y_n - x_n|| \rightarrow 0 (n \rightarrow \infty)$.

$$\lim_{n\to\infty} || \ x_{n+1} - x_n \ || = \lim_{n\to\infty} \beta_n \ || \ y_n - x_n \ || = 0 \ .$$

By (3.1), we obtain that

$$||x_n - S^n x_n|| \rightarrow 0 (n \rightarrow \infty)$$
.

Next we will prove

$$\limsup_{n\to\infty} \langle f(z)-z, j(x_{n+1}-z)\rangle \leq 0$$
.

For every positive integer $n \ge 0$, let $t_n \in (0,1)$, such that

$$t_n \to 0, \frac{L_n^2 - 1}{t_n} \to 0, \frac{\|x_n - S^n x_n\|}{t_n} \to 0 (n \to \infty).$$
 (3.2)

$$\begin{split} &z_{t_n} - x_n = t_n (f(x_n) - x_n) + (1 - t_n) (S^n z_{t_n} - x_n) \,. \\ &\| z_{t_n} - x_n \|^2 \le (1 - t_n)^2 \| S^n z_{t_n} - x_n \|^2 + 2t_n \left\langle f(x_n) - x_n, j(z_{t_n} - x_n) \right\rangle \\ &\le (1 - t_n)^2 (\| S^n z_{t_n} - S^n x_n \| + \| S^n x_n - x_n \|)^2 \\ &\quad + 2t_n \left\langle f(x_n) - x_n, j(z_{t_n} - x_n) \right\rangle \\ &\le (1 - t_n)^2 (L_n \| z_{t_n} - x_n \| + \| S^n x_n - x_n \|)^2 \\ &\quad + 2t_n \left\langle f(x_n) - x_n, j(z_{t_n} - x_n) \right\rangle \\ &\le (1 - t_n)^2 L_n^2 \| z_{t_n} - x_n \|^2 \\ &\quad + \| S^n x_n - x_n \| (1 - t_n)^2 (2L_n \| z_{t_n} - x_n \| \\ &\quad + \| S^n x_n - x_n \|) + 2t_n \left\langle f(x_n) - x_n, j(z_{t_n} - x_n) \right\rangle. \end{split}$$

$$\left\langle f(x_n) - x_n, j(z_{t_n} - x_n) \right\rangle \leq \frac{(1 - t_n)^2 L_n^2 - 1}{2t_n} \| z_{t_n} - x_n \|^2 + \frac{(1 - t_n)^2 \| S^n x_n - x_n \|}{2t} (2L_n \| z_{t_n} - x_n \| + \| S^n x_n - x_n \|).$$

$$\lim_{n \to \infty} \frac{(1 - t_n)^2 L_n^2 - 1}{2t_n} = \lim_{n \to \infty} \frac{L_n^2 - 1 - 2t_n L_n^2 + t_n^2 L_n^2}{2t_n}$$

$$= \lim_{n \to \infty} \frac{\frac{L_n^2 - 1}{t_n} - 2L_n^2 + t_n^2 L_n^2}{2t_n} < 0,$$

and $\{x_n\}, \{z_t\}$ and $\{S^n x_n\}$ are bounded, from (3.2), we can obtain

$$\limsup_{n\to\infty} \langle f(z_{t_n}) - z_{t_n}, j(x_n - z_{t_n}) \rangle \leq 0.$$

Since $z_t \to z(t \to 0), \{z_t - x_n\}$ is bounded, as we know, the normalized duality mapping J is single valued and J is strong-weak* uniformly continuous on the bounded set in Banach space E, then we can obtain

$$\begin{aligned} & |\langle f(z) - z, j(x_n - z) \rangle| - |\langle f(z_t) - z_t, j(x_n - z_t) \rangle| \\ & = |\langle f(z) - z, j(x_n - z) - j(x_n - z_t) \rangle| \\ & + |\langle f(z) - z - (f(z_t) - z_t), j(x_n - z_t) \rangle| \\ & \leq |\langle f(z) - z, j(x_n - z) - j(x_n - z_t) \rangle| \\ & + ||f(z) - z - (f(z_t) - z_t)|| \bullet ||x_n - z_t|| \to 0. \end{aligned}$$

Hence, for $\forall \mathcal{E} > 0$, if $\exists \delta > 0$, we can get $\forall t \in (0, \delta)$, then for all n, we can obtain

$$\langle f(z) - z, j(x_n - z) \rangle < \langle f(z_t) - z_t, j(x_n - z_t) \rangle + \varepsilon$$

 $\leq \varepsilon$.

For any $\varepsilon > 0$, we can get

$$\limsup_{n \to \infty} \langle f(z) - z, j(x_{n+1} - z) \rangle \le 0.$$
 (3.3)

By (1.3), we can obtain

$$x_{n+1} - z = \alpha_n (f(x_n) - z + (1 - \alpha_n)(S^n x_n - z).$$

By Lemma 2.1, it follows that

$$||x_{n+1} - z||^2 \le (1 - \alpha_n)^2 ||S^n x_n - z||^2 + 2\alpha_n \langle f(x_n) - z, j(x_{n+1} - z) \rangle$$

$$\leq (1-\alpha_{n})^{2} L_{n}^{2} \| x_{n} - z \|^{2}$$

$$+ 2\alpha_{n} \left\langle f(x_{n}) - f(z) + f(z) - z, j(x_{n+1} - z) \right\rangle$$

$$= (1-\alpha_{n})^{2} L_{n}^{2} \| x_{n} - z \|^{2} + 2\alpha_{n} \left\langle f(x_{n}) - f(z), j(x_{n+1} - z) \right\rangle$$

$$+ 2\alpha_{n} \left\langle f(z) - z, \right\rangle j(x_{n+1} - z)$$

$$\leq (1-\alpha_{n})^{2} L_{n}^{2} \| x_{n} - z \|^{2} + 2\alpha_{n} \alpha \| x_{n} - z \|^{4} \| x_{n+1} - z \|$$

$$+ 2\alpha_{n} \left\langle f(z) - z, j(x_{n+1} - z) \right\rangle$$

$$\leq (1-\alpha_{n})^{2} L_{n}^{2} \| x_{n} - z \|^{2} + \alpha_{n} (\alpha \| x_{n} - z \|^{2} + \| x_{n+1} - z \|^{2})$$

$$+ 2\alpha_{n} \left\langle f(z) - z, j(x_{n+1} - z) \right\rangle .$$

So.

$$||x_{n+1} - z||^{2} \le \frac{L_{n}^{2} - 2L_{n}^{2}\alpha_{n} + \alpha_{n}^{2}L_{n}^{2} + \alpha\alpha_{n}}{1 - \alpha_{n}} ||x_{n} - z||^{2}$$

$$+ \frac{2\alpha_{n}}{1 - \alpha_{n}} \langle f(z) - z, j(x_{n+1} - z) \rangle$$

$$= (1 - \alpha_{n}^{2} \frac{2L_{n}^{2} - 1 - \alpha - \alpha_{n}L_{n}^{2}}{1 - \alpha_{n}}) ||x_{n} - z||^{2} + \frac{L_{n}^{2} - 1}{1 - \alpha_{n}} ||x_{n} - z||^{2}$$

$$- \frac{2\alpha_{n}}{1 - \alpha_{n}} \langle f(z) - z, j(x_{n+1} - z) \rangle.$$

Let
$$\gamma_n = \alpha_n \frac{2L_n^2 - 1 - \alpha - \alpha_n L_n^2}{1 - \alpha_n}, \ \delta_n = \frac{L_n^2 - 1}{1 - \alpha_n} || x_n - z ||^2 + \frac{2\alpha_n}{1 - \alpha} \langle f(z) - z, j(x_{n+1} - z) \rangle.$$

We can have $\lim_{n\to\infty}\gamma_n=0, \ \sum_{n=1}^\infty\gamma_n=\infty$, and

$$\lim_{n\to\infty} \sup \frac{\delta_n}{\gamma_n} \le 0$$
. By lemma 2.3, we can get $x_n \to z$.

IV. CONCLUSION

Through our results in **Theorem 3.1** with comparison in the reference [2-5], it is not difficult to see that, if T is a nonexpansive mapping, then we can get the results in Chidume[4] and Xu[5]. Further more, If $f(x) \equiv u$ and T is a nonexpansive, then we can obtain the conclusion in Xu[2], Shioji and Takahashi [3]. So our results improve and extend some recent results of other authors, such as [2-5].

ACKNOWLEDGMENT

This work was supported by the National Natural Science Foundation of China (11071169) and the Natural Science Foundation of Zhejiang province (Y6100696).

REFERENCES

- B. Halpern, "Fixed points of nonexpansive maps", Bull. Amer. Math. Soc., vol. 73, pp. 957-961, 1967.
- [2] H. K. Xu, "Iterative algorithms for nonlinear operators", J. London Math. Soc., vol. 2, pp. 240-256, 2002.
- [3] N. Shioji, W. Takahashi, "Strong convergence of approximated sequences for nonexpansive mapping in Banach spaes", Proc. Amer. Math. Soc., vol. 125, pp. 3641-3645, 1997.
- [4] C. E. Chidume, C. O. Chidume, "Iterative approximation of fixed points of nonexpansive mappings", J..Math. Anal. Appl. Vol. 318, pp. 288-295.
- [5] H. K. Xu, "Viscosity approximation methods for nonexpansive mappings", J. Math. Anal. Appl. vol. 298, pp. 279-291, 2004.
- [6] Y. H. Wang, "Strong Convergence Theorems for Asymptotically Weak G-Pseudo- Ψ -Contractive Non-Self-Mappings with the Generalized Projection in Banach Spaces", Abstract and Applied Analysis, vol. 2012, Article ID 651304, 11 pages, doi: 10. 1155/ 2012/ 651304, 2012.
- [7] Y. H. Wang, L. Yan, "Modified Relaxed Extragradient Method for a General System of Variational Inequalities and Nonexpansive Mappings in Banach Spaces", Abstract and Applied Analysis, vol. 2012, Article ID 818970, 14 pages, doi: 10. 1155/2012/818970, 2012.
- [8] Y. Song, R. Chen, H. Zhou, "Viscosity approximation methods for nonexpansive mapping sequences in Banach spaces", Nonlinear Analysis, vol. 66, pp. 1016-1024, 2007.